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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 2 × 7 = 14
(Very Short Answer Questions)

Note:	 Examinees have to attempt all questions. Each question 
is of 02 marks and maximum word limit may be 30 words.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 narjm{W©¶m| H$mo g^r n«íZm| H$mo hb H$aZm h¢& àË¶oH$ àíZ Ho$ 02 A§H$ 
h¡ Am¡a A{YH$V‘ eãX gr‘m 30 eãX h¢&
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1)	 Give answer of the following questions.

	 (i)	 What do you mean by schedule?

		  AZwgyMr go Amn ³¶m g‘PVo h¡?

	 (ii)	 Write a formula of combined mean.

		  gm‘y{hH$ g‘mÝVa ‘mÜ¶ H$m gyÌ {b{IE&

	 (iii)	 Draw a diagram of  symmetrical distribution.

		  g‘{‘V ~§Q>Z H$m {MÌ ~Zm¶|&

	 (iv)	 What do you mean by standard deviation?

		  Amn à‘mn {dMbZ go ³¶m g‘PVo h¡?

	 (v)	 What is coefficient of range?

		  {dñVma JwUm§H$ ³¶m h¡?

	 (vi)	 Define interpolation.

		  AmÝVaJUZ H$mo n[a^m{fV H$s{OE&

	 (vii)	Define Primary data.

		  àmW{‘H$ AmH$‹S>mo§ H$mo n[a^m{fV H$s{OE&
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	 Section - B	 4 × 07 = 28
(Short Answer Questions)

Note:	 Section 'B' contains eight short answer type questions. 
Examinees will have to answer any 04 questions. Each 
question is of 07 marks. Examinees have to delimit each 
answer in maximum 200 words.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 IÊS> "~r' ‘| AmR> bKw CÎma àH$ma Ho$ àíZ h¢, narjm{W©¶m| H$mo 
H$sÝhr ^r 04 gdmbm| Ho$ Odm~ XoZm h¢& àË¶oH$ àíZ 07 A§H$ H$m h¡& 
narjm{W©¶m| H$mo A{YH$V‘ 200 eãXm| ‘| àË¶oH$ Odm~ n[agr{‘V H$aZo 
h¡&

2)	 Draw frequency polygon of the following table.

	 {ZåZ Vm{bH$m go Amd¥{Îm ~hþ^wO ~Zm¶|&
Value
(‘yë¶)

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100

Frequency
(Amd¥{Îm)

5 30 65 140 205 170 110 80 50 20

3)	 Write the properties and defects of Mean?

	 g‘mÝVa ‘mÜ¶ Ho$ JwU Ed§ Xmof {b{IE&

4)	 Make a Lorenz Curve of following table.

	 {ZåZ Vm{bH$m H$s ghm¶Vm go EH$ bmoaoÝO dH«$ {I{M¶o&

Income (Am¶) 20,000 40000 80000 100000 160000
No. of persons
(ì¶{º$¶m| H$s g§»¶m)

16000 14000 10000 6000 4000

5)	 Explain the different measurement of correlation.

	 ghg§~§Y Ho$ {d{^Þ ‘mnm| H$s ì¶m»¶m H$s{OE&
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6)	 Write the importance of Index number.

	 gyMH$m§H$ H$m ‘hÎd {b{IE&

7)	 Prove that

	 {gÕ H$s{OE
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8)	 Explain the regression equations.

	 àVrnJ‘Z g‘rH$aUm| H$s ì¶m»¶m H$s{OE&

9)	 Calculate standard deviations of the following data.

	 {ZåZ AmH$‹S>m| H$s ghm¶Vm go à‘mn {dMbZ H$s JUZm H$s{OE&
X 10 12 14 16 18 20
f 5 8 21 24 18 15

	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Section 'C' contains four long answer type questions. 
Examinees will have to answer any 02 questions. Each 
question is of 14 marks. Examinees have to delimit each 
answer in maximum 500 words.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	IÊS> "g' ‘| Mma> {Z~ÝYmË‘H$ àíZ h¢& narjm{W©¶m| H$mo H$sÝhr ^r 02 
àíZm| Ho$ Odm~ XoZm h¢& àË¶oH$ àíZ 14 A§H$m| H$m h¡& narjm{W©¶m| H$mo 
A{YH$V‘ 500 eãXm| ‘| àË¶oH$ Odm~ n[agr{‘V H$aZo h¡& 
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10)	 Write a note on measures of central tendencies.

	 Ho$ÝÐr¶ àd¥{Îm Ho$ ‘mn na {Q>ßnUr H$s{OE&

11)	 Find out the coefficient of skewness with the help of Karl 

Pearsons' formula.

	 H$mb© {n¶g©Z gyÌ H$s ghm¶Vm go {df‘Vm JwUm§H$ H$mo kmV H$s{OE&
X 58 59 60 61 62 63 64 65
F 10 18 30 42 35 28 16 8

12)	 What do you mean by Statistics? Explain the importance and 

limitations of Statistics.

	 gm§p»¶H$s go Amn ³¶m g‘PVo h¡? gm§p»¶H$s H$m ‘hËd Ed§ gm§p»¶H$s H$s 
gr‘mAm| H$s ì¶m»¶m H$s{O¶o&

13)	 Solve the following differential (Any four).

	 {ZåZ AdH$bZ H$mo hb H$s{OE (H$moB Mma)&   3.5 + 3.5 + 3.5 + 3.5

	 i.	 y = (3x2 + 5x) (2x2 + 3x)

	 ii.	 y
x
x

5 2
5=
+

	 iii.	 y x2 32= -

	 iv.	 x2 + 2xy + y2 – xy2 =0

	 v.	 y = e x


